Chemistry 112
Worksheet: Chemical Bonding Review

1. Write electron configurations for each of the followmg atoms:
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3. Explain, using the VSEPR Theory, why the geometry of CHy is tetrahedral.

4. State whether the following compounds contain polar covalent bonds, nonpolar
covalent bonds, or ionic bonds.

@KF (3.2) 1onic bond

1) S0, (1.0) polar cevalert bonds

©NO, (2.5) palar cevalert bonds

@ HBr (0-1) polar covalert bond

@ CH, (01) vonpdac/polar covalent bonds

5. Explain, in detail the three intermolecular forces (dispersion forces, dipole interactions
and hydrogen bonding). Give an example of each.
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6. Draw an electron dot structure and structural diagram for each of the following
molecules.
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7. Explain the difference between a pi bond and a sigma bond. Which type of bond
tends to be weaker?
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8. Explain what is meant by orbital hybridization, giving specific reference to the
hybridized orbitals in CHy.

9. Indicate the hybrid orbital used by each carbon atom in the following molecule:
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How many total sigma and pi bonds are in the molecule?
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